001

THOTH 2 &2

BMR 2% @ it il 24k % E Dk

BMR Orbit Hydraulic Motor With Spool Valve

W 7= 5% INTRODUCTION

ARV DEFERARRRBENKSHFRFETA, ERTRERNMAERIENSGS, MZEATR
My gk, BB, HUER. WOALAUME, MGEEBALEGEE, FAN, #BAH. TEFE%E,

This series of motor,with its shell made of ductile cast iron of adequate intensity, can be applied to situa
tions with less load and interval operation, widely to agriculture, forestry, plastics, machine tools and min
machines, such as the mould height adjustment of the injection molding machine, the cleaner, the saw
the worktable etc.

W #EE%F = CHARACTERISTICS

1 EH ERERGEREK, RZE—EHHE DR,

2 RATHEERREH, R, EBE,

3 AE2IREE, AEEIMERE,

4 RRATHREEHRGRA, BRI, VHBES.

1 The output shaft, with the deep groove ball bearing, can bear certain axial force and radial force.
2 With the axial oil distribution structur, it is of smaller size and less weight.

3 With two inner check valves, no drain connection.

4 With cycoid group with the roller, it has a small friction nd high mechanical efficiency.

B BVR #AR%# TECHNICAL DATA

BMR-50 |BMR-80 |BMR-100 |BMR-125 |BMR-160 |BMR-200 iBMR-ZEO BMR-315 |BMR-400
BMRW-50 | BMRW-80  BMRW-100 | BMRW-125  BMRW-160 | BMRW-200 | BMRW-250 | BMRW-315 | BMRW-400
| BMRS-50 IB!MRS-B!'.' BMRS-100 | BMRS-125 | BMRS-160 | BMRS-200 !BMRS-ZSU BMRS-315 | BMRS-400
gfspl,mmem(mm 51.7 80.5 100.5 126.3 160.8 200.9 2526 3215 4019
B EpE 4L cont. 14 14 14 14 14 14 11 9 7
Max.Pressure.Drop
(Mpa) [B]& int. 17.5 17.5 17.5 17.5 17.5 17.5 14 " 9
L1 peak. 20 20 20 20 20 20 16 13 11
BAHE FELE cont, 93 152 194 237 310 369 380 380 380
Max.torque
(N.m) [BB int. 118 189 236 296 378 450 470 470 470
i peak. 135 216 270 338 433 509 540 540 540
ﬁi?ﬁ.;nfeﬁgm_)mmm) 10-776  10-750  10-600  10-475  10-375  10-300  10-240  10-190  10-160
ﬁgﬁﬁﬁﬁ}){uﬂﬂm 40 60 60 60 60 60 60 60 60
RAWHINE (&E)
Max.Output.Power(cont. )(Kw) 7 10 10 10 10 8 6 5 4
58
Weight (kg) 6.5 6.9 7.0 T3 75 8.0 8.5 9.0 11

BT TR B S M AERIL6H, RETIERESSHAFBIE0.68)
Intermittent operation the permissible values may occur for max. 10% of every minute
Peak load: the permissible values may occur for max. 1% of every minute

W R ZFRAHLEN.m): ©25, ©25.47E5# 44360, ©25, ©25.4FF 44300

R E DA R4 A

NINGBO ZHONGYI HYDRAULIC MOTOR CO..LTD.

7 ©
ziHYD

BMR Blihi o) Btih R4 % ES3iE  BMR Orbit Hydraulic Motor With Spool Valve THOTH /i 2 &

B BMR{%AE th2:E FUNCTION DIAGRAMS

40

20

BMR-50
£ 5 5|5 5| 5 5 5 5 5
2 2 28 & 8 g % =
g| @1 e
s DA R SINSRR — 11 AP=175MPa
- ) W= A WA
O R R P 16Pa |
(AT s T
§ e tVALEL S L S T e RT3
. B < - 12MPa
o I T e
% I 1 el L ‘IML
# e o N P T W s e e
p : vl | D, 5 e e N g
(| S S e N
b e e EEe N PN
A-IELE cont = B-[E1H int
0 100 200 300 400 S00 GO0 YOO 800 900 1000 rimin
BMR-100
=| = = K = = Sl =
S § § 5 5§ § 55
gle & & 9 8 8 PRe
i I YT s
el GRS IR I . Sl
)’ x N ~
B A P et T e
LA}‘ } {\} R —"_:‘ %‘x‘\___ 14MPa
o AR e ST e
§ A SV o = TN
WA = — A~ et | e
S Tl b b o= o
< Qﬁ_#“"’g W s H'::_::a-‘f“-——-_ﬁ_ﬂi"_a___
\ T =f-+-J-J-T==——1 |aP=3mPa
A-iEH cont —=— | —— B-[EI& int
0 100 200 300 400 500 600 700 800  rfmin
BMR-160
£l 8| 8 £ £ g g f¢
= =1 = = Fr = =i =
&l el s gl 8 . 8] 2|2
g'/l A 7 S r— s
N O A 8 B e = ]
P e ek |,
V1B % o e S 9 i i
5 i 1 R S L
8 a3 | kW |' r-..__ = =._.__-__J£]_M_Eg-_
g A 2| L - - = “""‘-——-E.Mf_a__
< M[];(”N-im DA W ==i==! | 6MPa
f AN e e e g o 8 I
Qt:: :j:m.am;r"ﬁ == =~ 4= ===—_|AP=3MPa
A-ELE cont =— | —= B-[@Hf int

0 50 100

150 200 250 300 350 400 450 500 rimin

BMR-80
E% = = = = = = =
i85 § § § § £ 5%
20191 2 8 8 < 8 gl 2
. AN A L L Ap-17.5uPa
1w I A ?\ :*4 3 L -_--__-
160 nl.\ Il ‘/ \‘\ _,\-L-—'_“-\ e~ \*"- T___-J‘S'nga--
* v 7 O B Ja_ Nrokwd] n=t 5 ]I
(B o s e S N il | § o o
120 ( " P ——
1001 E A | B4 o 8 ""‘?-h______@i_pL
mg ,\.a-—-":\_“_‘}“—:m .7/“--. H?"‘"':—--_JQPL
1] “F ’{ 71_—"4*‘- 7 :_“--""""*——_ MPa
wl <[V h%“ Tt Lo |
o S T e
A-EEH cont —=— | —— B-@1HY int
0 100 200 300 400 500 600 70O 800 900 1000 r/min
BMR-125
E|E £ s = £ = S = =
2§ 5 35 § 5 5 § 5 5
ol 2 & 3 g 3 g g =
%0 |5
520 é\ﬂ O i 9 W T B-1750Po
0 [ BT B WA S
240 J’\ HRY £ S - I""""“” Q\‘ML
wo P S T T e
3 5 N = =
160 1 £ Ll’}f’{.' o - I LGRS -___'1‘1‘2@33-
8 > “1@-?-,.4.__ -~ —ptowpe |
120 g i 14 //'i\w : "/\-__ ‘f‘—s—h‘f&q
% - aal
81l T Tt oo | | —ef—oPa
o S o e = il N )
? ) A-ZE4E cont =— | —= B-E]H int
0 50 100 150 200 250 300 350 400 450 500 550 600 rimin
BMR-200
S §§ § 5 5 5§ § §5
gplel ) 8B ® 8 8 &=
“IEET =]
400 {ch pramst T~ ST T T Zp=17.5uPa
350 * I.._'\ A e M 10RV r e
ol \ » = F -
| el PHaT Tt | s
%018 : /‘/‘\- '_:-: - :""-—-12-_'“"33_”
w0 [§ ] s—IL | || Nlew] J 0=
i AR 2KN - | 2= 3MPa
" 5 A=t =
N=tRW T~ ~..,/Hﬁz"::-2:.____ b
100 ] = s T
% = =t T —=—1 1 |Ap=amPa
0 | e
A-ELE cont=— | —— B—E]8R int
0 5 100 10 200 250 300 350 400 rimin

Z ©
ziHYD

TERPERESZEZERAA

NINGBO ZHONGY!I HYDRAULIC

MOTOR CO.LTD.

002



003

BMR &t E AR & RIED A

BMR Orbit Hydraulic Motor With Spool Valve THOTH /2= &

M BMR145E # £ E FUNCTION DIAGRAMS

BMR-250 BMR-315
E = & & = 1~ £ Ll & E = c = = [ L
= [§5 S5 5 5 5 5 55 2 (85 5| 5 5 5 35 353
=2 & 8 = B =8 = Jdel & 8 <€ 8 8 g=
500 12 b 560 £
450 g T = E
(] A BEm
wo| S UL I L TR Apranpa b - VA o s
VLT I (W N T 1 el A S L = —
0] ] ] 4 e S 12.5MPa
s} R i I L 1 B i w“x\lﬁﬁlﬂ N
z i 320 ! 2
20| 817X | o] e o/ —j—-10Pa | WA N = = awPa
§ b s | Tl / —_|_8MPa a0l §LHEZTTZ < T 1Y SOy wel | T 1o
20 {4 Nius <1 I nemd | Jaw ] S\ || SR = T
t50] < e LTt | g - bR ~ - T~ B
TIPS on 2 AU e R 010 i n e v e = < N
- = o R L e TN o 5 e g S I R I e L
50 e /;u;ﬂ -, = 5 . p-awpa 80 N : = ==t~ ——
0 = 0 | l l l -:_-
A~ cont=— | —— B-iEHF int A-i%#% cont =— |— B-aBf int
0 25 50 75 100 125 150 175 200 225 250 275 300 325 rimin 0 25 50 75 10 125 150 175 200 225 250 cimin
BMR-400
E c g £ £ = i = g
2| |§ 5| 5 5 S 5 5 5
2l 8 = g = 2 8 2
B/ T R
Al ﬂ'-\ td i T ST
85MPa
% | AA AR e
10 T [ ,".,\f- \ ‘.\\ o B PL\ et | | e,
2501 EL 7— \ R_ﬁﬁ"' ~——1Y "~ \
8 N=1RY : = A ““'\ﬁ-—-ﬁﬁﬂ_
200 g < — == S E=
150 < = “’Wﬁé*‘rr-—-:; 4MPa
:\"“—M;;""’/')z%‘}-d: -
100 == =11 AP=3MPa
~1 11 i i M — |
e |
! A~ cont —— | —— BB int

0 2 40 60 80 00 120 140 160 180 rimin

W %45 235 512 PERMISSIBLE SHAFT LOADS

Pagmn(N) Pan —
9000 JL ol

8000
\ 2000N
N
6000 % F‘m: =
4000 e 2000N | @)

2000 = 30
0 200 400 600 800  #iin(r/min) BMRWE!
Pamn(N) Pﬂl
16000 /A
12000 / L8 A:n=50 r/min
A L B:n=200 r/min
8000 F - C:n=800 r/min
L
4000 =x—"]
+
0

0 20 40 60 80 100 L{mm)

Z"° THRPEREDIZEFRAF

ziHYD  NINGBO ZHONGY! HYDRAULIC MOTOR CO.LTD.

BMR ZYz [ fid il R4 R E Dk

BMR Orbit Hydraulic Motor With Spool Valve

B BMR sMEZ3%E Installation
A, AR 732 A A1 Version Square flange
{XELY 138 A, Only match with Y1 ports

7%= Flange| ©C
A o825 | Mi18x1.5 M14x1.5
Al ©80

-0.01
$C-0.04

/4
105

N_ A

i E

\\

- Lo B 70X70
R¥ER 38 36 90X90
Mounting surface L
107.5

All, 27L#F R E2 All, Version 2-hole oval flange
P(AB 4-M8

— 10i®deep T
20_,_20 F
r% ré 4 |
Sk d 43 S
g & | —— [ 5 iz §
g (f‘\ f \ Pan N i RME? by AS—
\JA\\ j o —
\_/ i E_._
20_|_20
6_| 16| B
| 38 36
"Mounting surface | L
A2I& KkFiE= A2l Version Square flange
{ZEY1id A, Only match with Y1 ports
M18x1.5 4-013
M14x1.5
\ =
[ =] 1 _i—_ mr
*3 I = N s Qi g o
2 5
b - \ 5 —_—
s A&y
e
6 ? B
LW 38 36 90X90
Mounting surface 2 120X120

P(AB)—i#HilO, FRECMASUNE; T——ittmO, FRFETRSHM,
P(A,B)—Ports,can be found on page 6; T--Drain connettion, can be found on page 6.

U

THOTH - &2

Z° THERPEREZIZERLAF

ziHYD

NINGBO ZHONGY!| HYDRAULIC MOTOR CO..LTD.

004



BMR &4 @ Bl il B &R ED A

B BMR 5MEZ3EE Installation

AV 47LZFE %= AV Version 4-hole oval flange

BMR Orbit Hydraulic Motor With Spool Valve

THOTH F = &

P(A.B 4-M8
[ 10iRdeep
20,20 [— ©106.4+0.2
B
| O+
52 Tk
P9 ) 8 2
& o, A 0 Y 2
8 4 (rh //-‘-\\{ i
AN/ Y
L~
20_|_20
B
6 16
TR 38 36
Mounting surface L
%YPE BMR-50 BMR-80 BMR-100 BMR-125 BMR-160 BMR-200 ‘ BMR-250 BMR-315 ‘ BMR-400
L 142 147 150.5 155 161 168 177 189 203
B 9 14 17.5 22 28 35 44 56 70

P(AB)—#HilO, #AEETIRSIEME; T-thmO, FERNHEHTRIHEM,
P(A,B)——Ports,can be found on page 6; T-—Drain connettion, can be found on page 6.

W BVR SMEZEER T -#itH % SHAFT VERSION

P1: ©25F§4h, FHEB8X7X32 P2: ©30FgE4h, F#8X7X32
@25 Cylindrical shaft, parallel key 8X7X32 @30 Cylindrical shaft, parallel key 8X7X32

43-0.5
43-0.5 AA s
5., 32 8-0.036 5. 32 . 8-0.036
1A \b«éco . I| 1A | %U"
o - 7 n A 2
S3 Y & oS S i 8
=] = I T - S
2| = 6 R S| = &
e =
20 : 20
| i A <
A 54 54
P3: ©254F##H, F56.35X6.35X32 P5: O32F&H, FE10X8X45
®25.4 Cylindrical shaft, parallel key 6.35X6.35X32 ® 32 Cylindrical shaft, parallel key 10X8X45
43-0.5 AA 56 A-A
A5, 32 6.35-0.03 B 49 N 10-0.036
1A I Bsoe |'a . :3 §
(=B I 1 i A e
33 " S & & o
o @ o
Y i REiS A I R
Y ™ -
T 20 . i
20
'A_ 54 A <
64.5
d-- BARER

Motor mounting surface

Z° TEHREREDZZEAERAF

ziHYD  NINGBO ZHONGY!I HYDRAULIC MOTOR CO.LTD.

BMR B4 6 At im B L R E DX

W BMR 5ME&ER R ~F-%H3h SHAFT VERSION

H1: O304EHIE#H, 6-30X25X6
@30 Splined shaft, 6-30X25X6

32

1A

-0.020
®30-0.053

M8

i
]

®80

H3: ©25.45ER{EiEh, 6-25.4X21.4X6.2
®25.4 Splined shaft, 6-25.4X21.4X6.2

54

H BVR 5 & X ORDERING CODE

43-0.5
28 b/
83 A %
3| HE5pE
g 7/
[=3
20 1A 4
54

H2: ©25%EMIEEM, 6-25X21X5
@25 Splined shaft, 6-25X21X5

BMR Orbit Hydraulic Motor With Spool Valve

THOTH F 2 &

A-A -0.160
©21-0.370

43-0.5

28 .
IA >730°

&8 £
ss| e 1l g
E == 21T 1K

© |

o0 1A l<|

—54_1

4-- BiEERER

Motor mounting surface

1 3 4
A 4-0117EE, IEO0825
. 4-®11 Square flange, pilot ®82.5
50, 80, 100, 125, 160, 200, 250, 315, 400 4-®11 Square flange, pilot ®80
ATl 2-01356&EMEE, 1EO®825
Azl 4-013KkK7ik=, IEO©100
4. O25F 4N, Faex7Ns2 4-® 13 Square flange, pilot ®100
@25 Cylindrical shaft, parallel key 8X7X32 AN 4-O135EEE, FO0825
Fa O3OFHH, FHaX7X32 4-©13.5 Oval flange, pilot ®82.5
® 30 Cylindrical shaft, parallel key 8X7X32
e
®25.4 Cylindrical shatft, parallel key 6.35X6.35X32
P5 O32F R4, FE10X8X45 P(A,B)(®deep) T(#Rdeep)
®32 Cylindrical shaft, parallel key 10X8X45 Y G1/2(15) M14X1.5(12)
H1 O304EH LR, 6-30X25X6 Y1 M18X1.5(15) M14X1.5(12)
® 30 Splined shaft, 6-30X25X6 Yo M22X1.5(15) M14X1.5(12)
H2 O255E AL, 6-25X21X5 Y5 7/8-14UNF(15)  M14X1.5(12)
@25 Splined shaft, 6-25X21X5 v8 NPT 1/2(15) M14X1.5(12)
H3 ©25.45E L, 6-25.4X21.4X6.2

®©25.4 Splined shaft, 6-25.4X21.4X6.2

i Y5M O H4-MBR AT

Note:Y5.port have no 4-M8 threaded hole

57 ZE 3R Special Features

#BE Omit i%%F none

Z®
ziHYD

THERBRREDZFERAA

NINGBO ZHONGY! HYDRAULIC MOTOR CO.LTD.

006



BMR B4 fid iR % [E DA BMR Orbit Hydraulic Motor With Spool Valve

B BMRS ML % E Installation

AT B 271 Z#ERi%2 All Version 2-hole oval flange

P(A, B) 7/16-20UNF
0 Ring port
[12%deep
53 1 |
°32 8__ 0] g
o a 5
8
I B
B
28 16
TEE - "
Mounting surface
C, C1&! #% C,C1 Version Square flange
P(A. B 7/16-20UNF
0 Rin r
{12ﬁdeep
; Ly
8 ) el %5
g ° § 5
28 427
B
RE@
Mounting surface L
%% Flange E
C 4-M10
c 4-2-16UNC

THOTH 2 &2

2-013.5
=
% tf—
2 3
& Ce—
s
44.7
©82.5+0.1 E
| /i5idesp
—=
<=
&
&
e
=

BMRS-50 | BMRS-80 | EMRS-100 | BMRS-125 | BMRS-160 | BMRS-200 | BMRS-250 | BMRS-315 | BMRS-400

L 150 155 158.5 163 169
B 9 14 17.5 22 28

P(AB)—tHil O, FRESHBSHN; TihO, FRESHE SN,

176 185 197 211

35 44 56 70

P(A,B)--Ports,can be found on page 8; T--Drain connettion, can be found on page 8.

R DA R 4 A

NINGBO ZHONGYI HYDRAULIC MOTOR CO..LTD.

®
007 z
ziHYD

BMR 24k @ Bt R4 R E DX

M BMRS e iE#E R~ -t SHAFT VERSION

P1: O25%F 44, FHEX7X32
® 25 Cylindrical shaft, parallel key BX7X32

A-A
5 32 8-0.036

>
©28.5 /\

28-0.2

©25-0.033
M

&

P4: ©254FgH, FE#E0254X6.35
©25.4 Cylindrical shaft, Woodruff key ©25.4X6.35

BMR Orbit Hydraulic Motor With Spool Valve

$©25.4-0.033

THOTH -2 2

P3: ®254F g4, F§6.35X6.35X32
©25.4 Cylindrical shaft, parallel key 6.35X6.35X32

40 A_A
5 32 6.35-0.03
IA L-\30°
0 €4 7
==} | o g . i
W 16
20
| <]
A 45

H4: ©2547E85, 6-25.4X21.4X6.2
®25.4 Splined shaft, 6-25.4X21.4X6.2

A-A A-A -0.16
- 6.35-0.03 ©21.4-0.37
iy ! ! 11\ g_é [¢]
ST 8l 14 3 =2
3| s rts o 5|8
| ST || 19 8 213
= = =
145 1A
40 <
45
1-- BiARFEHE
Motor mounting surface

l BVRS # S &YX ORDERING CODE

1 2 3 4 5

BMRS | - -

1 HEfE Displacement

3 Z %% = Mounting Flange

50. 80. 100. 125. 160. 200. 250. 315. 400

P1 D25F @4, FHBX7X32

®25 Cylindrical shaft, parallel key 8X7X32
P3 ©25.4F4E5, F§6.35X6.35X32

©25.4 Cylindrical shaft, parallel key 6.35X6.35X32
P4 D254 5, T 0254X6.35

©25.4 Cylindrical shaft, parallel key ©®25.4X6.35
H4 ©25.47E85h, 6-25.3X21.4X6.2

©25.4 Splined shaft, 6-25.3X21.4X6.2

All 2-0135FHEE, BAILEO®82.5
2-®135 Oval flange, pilot 825

c 4-M83%E=, Efiikd®44.45
4-M8 Flange, pilot ©44.45
o 4-3/8-16UNC%E2, FEfIIEO®44.45

4-3/8-16UNC Flange, pilot ®©44.45

4 ifi0 Ports
P(A,B)(i®deep)

Y5 7/8-14UNF 0-ring(15)

Y8 1/2-14NPTF(15)

5 $EFEE K Special Features

#H Omit %% none

Z°® TEPERESEERAA
ziHYD

NINGBO ZHONGY! HYDRAULIC MOTOR CO..LTD.

008



